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Fiber 2266, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.0 1.5 1.0 0.50.0

Fiber 4375, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.2 0.10.0 0.1 0.2

Fiber 4434, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.05

Fiber 1018, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.2

Fiber 2711, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.0 0.2 0.4 0.6 0.8 1.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.0 0.2 0.4 0.6 0.8 1.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.4

Fiber 1206, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.20.3

Fiber 1495, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.41.21.00.80.60.40.20.0

Fiber 4202, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.30.40.5

Fiber 2579, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.751.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.52.01.51.00.50.0

Fiber 587, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4 0.6 0.8

Fiber 2925, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0

Fiber 1009, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 2684, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.52.01.51.00.50.0

Fiber 986, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

7 6 5 4 3 2 1 0

Fiber 516, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.2

Fiber 963, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0

Fiber 934, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.751.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0

Fiber 703, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

6 5 4 3 2 1 0

Fiber 2251, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.40.20.00.20.40.6

Fiber 2232, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.05

Fiber 792, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.3 0.2 0.10.0

Fiber 675, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 2967, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0

Fiber 1413, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.2 0.0 0.2

Fiber 2924, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4 0.6

Fiber 2642, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

3.53.02.52.01.51.00.50.0

Fiber 2867, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

10.511.011.512.012.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

10.511.011.512.012.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.451.401.351.301.251.20
1e 8

Fiber 1048, dchi2frac= nan



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.20.0 0.2 0.4

Fiber 2420, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.50.40.30.20.10.00.10.2

Fiber 4330, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.10.2

Fiber 2109, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.2

Fiber 4177, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.05

Fiber 784, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.10.2

Fiber 647, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.81.01.21.41.61.82.02.2

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.751.501.251.000.750.500.250.00

Fiber 1251, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.1

Fiber 2340, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.050.10

Fiber 943, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10 12

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0 1 2 3 4 5 6

Fiber 2279, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1 0.2

Fiber 4380, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

5 4 3 2 1 0

Fiber 1364, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.00.51.01.52.02.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.00.51.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.80.60.40.20.0

Fiber 4225, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.21.00.80.60.40.20.0

Fiber 4125, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.20.3

Fiber 2634, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 4 6 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

6 5 4 3 2 1 0

Fiber 1395, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.2

Fiber 4264, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.40.60.81.01.21.41.61.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.40.60.81.01.21.41.61.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 2622, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.50.0 0.5 1.0 1.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.50.0 0.5 1.0 1.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 4086, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.751.501.251.000.750.500.250.00

Fiber 969, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.20.0 0.2 0.4

Fiber 2984, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4

Fiber 2415, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.80.60.40.20.00.2

Fiber 4117, dchi2frac= 1.0


